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Instructions: Attempt all the questions. 

SECTION A  

10Qx2M=20Marks 

S. No.  Marks CO 

Q 1 What is not the impact of India’s import substitution policy?- 

(a) it produced supply constraints. 

(b) it discouraged production of luxury goods. 

(c) it led to generation of unutilized capacity. 

(d) it led to massive misallocation of resources. 

2 CO1 

Q 2 Which of the following is the reason for India not adopting Fuller Capital 

Account Convertibility regime?- 

(a) small amount of foreign exchange reserves.  

(b) high current account deficit.  

(c) unstable character of FII.  

(d) none of the above. 

2 CO1 

Q 3 Which is headquarter of European Central Bank located?- 

(a) Luxemburg. 

(b) Paris. 

(c) Frankfurt. 

(d) Rome. 

2 CO1 

Q 4 Which of the following country is not a member of ASEAN?-  

(a) Cambodia. 

(b) South Korea. 

(c) Thailand.  

(d) Philippines. 

2 CO1 

Q 5 In which year Lead Bank Scheme was introduced in India?- 

(a) 1969. 

(b) 1977. 

(c) 1981. 

(d) 1988. 

2 CO1 

Q 6 TOPIX is the popular share price index of-  CO1 



(a) New York Stock Exchange. 

(b) London Stock Exchange. 

(c) Japan Exchange Group. 

(d) Shanghai Stock Exchange. 

Q 7 What is gilt-edged market?- 

(a) it is the market for government securities. 

(b) the market where shares of blue-chip companies are bought and sold.  

(c) The market where shares of foreign MNCs are traded. 

(d) none of the above. 

2 CO1 

Q 8 What is the number of items in the WPI with series 2011-2012?- 

(a) 674. 

(b) 697. 

(c) 714. 

(d) 754. 

2 CO1 

Q 9 Laffer curve describes- 

(a) tax elasticity. 

(b) tax buoyancy. 

(c) tax equality. 

(d) all of the above. 

2 CO1 

Q 10 In which five-year plan India adopted indicative planning- 

(a) second five-year plan. 

(b) fifth five-year plan. 

(c) sixth five-year plan. 

(d) eight five-year plan. 

2 CO1 

SECTION B  

4Qx5M= 20 Marks 

Q 11 Explain centralized and decentralized planning process. 5 CO2 

Q 12 Describe progressive, regressive, and proportional taxes. 5 CO2 

Q 13 Illustrate the objectives of India’s monetary policy. 5 CO2 

Q 14 Interpret the Trilemma of the “impossible trinity”. 5 CO2 

SECTION-C 

3Qx10M=30 Marks 

Q 15 Discuss the key factors that determine India’s attractiveness as a 

destination for foreign investment. 

10 CO3 

Q 16 Mention the role of MSMEs in Indian Economy. How can the new 

definition of MSMEs affect its performance?  

10 CO3 

Q 17 Indian plans are good in papers but not so good in implementation- Do you 

agree with this view? Give reasons for your answer. 

10 CO3 



SECTION-D 

2Qx15M= 30 Marks 

Q 18 Examine the objectives of Fiscal policy in India to promote inclusive and 

sustainable economic growth.  

15 CO4 

Q 19 Evaluate the major challenges and opportunities facing India’s foreign 

trade policy in the context of the current global scenario.  

15 CO4 

 




